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Influence of Noise on ICG Algorithm Based on
Different Gradient Operators

ZHANG Pei, WU Ya-feng
(Data Processing Center, Northwestern Polytechnical University, Xi’an 710072)

Abstract The Inverse Compositional Gradient(ICG) algorithm is a novel Inverse Compositional Image Alignment (ICIA) algorithm, which is
based on the local orientation. Compared with the ICIA algorithm, the ICG algorithm gives more accurate and reliable matching results under
different lighting conditions. The evaluation of the local orientation and gradient is essentially equivalent. Hence four different gradient operators are
used to compute the local orientation. White Gaussian noise is added to the input or the template images to imitate those in the real world.
Performances of the ICG algorithm using the above four gradient operators under different noise, are compared.
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